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POTENCIAS
1. - Escribe en forma de potencia:
*3.3.3.3= *¥2.2.2.2.2= *16.16.16 =
*4 .4 .4= *5.5.5.5= *T.7.7.7=
*50.000 = *800.000 = *12.000.000 =
*1.000.000 = *10.000.000 = *100.000.000 =
2. - Averigua el nimero:
*32.10°= *16.10°= *29.10°=
*4.10%= *85.10°= *9.10°=
3. - Calcula las potencias:
*5%= *3'= *10° = * 35 =
* 122 = * 83 = *112 = * 4% =
4. - Halla:

* 122+ 1251 - 63-8%+85°-451-920°+5%- 4%+ 3% =

* 28 x53x 72 =

*(12-7)°+3%-(8-5)°+45'-75°+(9-3)*=

*22x3%x52x11° =

*(15-26+34-38+95+25-15)% + (42-39+8-12+8)°=

*(25-12+35+14-58)°: (18-24+16-5+18-10-9)*=

*(275-189+ 14 -56 + 20 - 62)* x (93 +17-68-41+11)%=

*(15+19-32)% x (52-45-5)* : (75-29-38+15- 21)*=

5. - Escribe en potencias y halla el resultado:

* 3% 22=0%2=25=32

*5x52x5%= =

*Px7Px 7' x7°= =

*32x32x3%=
*32x33x 3=

* 42 x4 x 4t =



